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1. In a class of 50 students each student donated 200 Baht to help 2 of their classmates, who 
were victims of a flood disaster. How much money did each vistim receive? (The donator 
exclude the victims, both victims received equal amount of money)

2. Which of the following expressions is equivalent to 3x − 2?
a. 18 − 5(x − 1) − 10x + 11
b. 15x + 22 − 12(x − 2)
c. 6(x − 1) − 9(x − 2) − 10
d. 5(1 − x) − 8(1 − x) + 1

3. A father is four times as old as his son, and the difference between their ages is 36 years. 
How old is his father ?

4. In the figure given below, If  AB  // CD  , 
^

BAG  = 20°, 
^

GED  = 22°, 
^

FED  = 58°,       
^

EAG  = y°, 
^

EGA  = x° then x + y = ?

5. ABCD is a quadrilateral and BD is one of the diagonals perpendicular to DC as shown in 
figure. If AB = CD = 5 cm, AD = BC = 13 cm, BD = 12 cm and the area of ABCD = a 
cm2 then a = ?
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1) 5 2) 81 3) 11 4) 36 5) −10
6) 2 7) 64 8) 144 9) 2,554 10) 2,011
11) 144 12) 33 13) 44 14) 4 15) 184
16) 16 17) 20 18) 3 19) 18 20) 10.38
21) 99 22) 1,509 23) 210 24) 8 25) 200
1) 4,800 2) d 3) 48 4) 80 5) 60


